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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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SECTION A

Ql. fr=fafaa # & ace @1 T 150 visgl | SR ST ¢

Answer each of the following in about 150 words :

(a)
(b)
(c)
(d)
(e)
Q2. (a)
(b)
(c)
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STel ATATE & d HH-H S & 1 fhHl g1 & fou stavas 8 2

What are the external environmental factors that are essential to an
organisation ?

Ta-gfdfssd (Fa-Fenfiiehel) TSATCHS fagid & T&I T&drdi Sl qUH i |

Describe the main propositions of the neo-classical organisational
theory.

TITSATcHS TEehic Td ITATEl o HEd HY & qUMH HIT |

Describe the relationship between organisational culture and climate.

“ ‘gryeran (vifedersd)’ $i Hifa drearns FrEugla w Fa gwifaa s
8 17 auemsy |

“ ‘How does the policy of ‘Flexitime’ affect organisational functioning ?”
Explain.

AqU-3fher G99 & o9 91 1 GHATST |

Explain the three forms of intra-personal conflict.

TS 01 & G1eH & ®9 H Witk ol 3TN A fohan Srar @ 2 e &+
fafir grat =i foxar @ aw=ms |

How is power used as a tool of organisational control ? Elaborate in
detail the various sources of power.

“Iie TiraAl o, U T & &9 a1y Aferardietn R w9 el 7
I M ? |7 39 wud % Ged H It T o Hife vd 3Ee i
forg s |

“Profit maximization as a goal, is being gradually considered less
important in many organisations.” Express and justify your opinion on
the above statement.

e & vo-aAed g &1 e faveisn i |
Critically analyze the Path-Goal Theory of Leadership.

V4

10x5=50

10

10

10

10

10

20

20

10



Q3. (a)
(b)
(c)

Q4. (a)
(b)
(c)

SKYC-B-LOMA

gt 1 “sTfision-wesa faga” e % e fRe weR v g 2 2
I ETSH1 W AT B a1 o ate “erman wt @i gefag i |

How is Herzberg’s “Motivation-Hygiene Theory” useful to
organisations ? List any five ‘Hygiene Factors’ applicable to Indian
organisations.

HHeTl h FR A B G § FE A i e F gewd w1 o
Hife |

Describe the importance of ‘Quality of work life’ in improving employee
work efficiency.

SAFENIeAsh foverewr & day ¥, fohedi uie [ sqanl @1 guitsy |

Delineate any five complementary transactions in relation to
Transactional Analysis.

‘SauroTeHs (TETge) ST @1 auia Hife | 38k (feegeft) & =,
Hie td fd=m @t gwssy |

Describe ‘Perceptual Process.’ Explain the selection, organisation and
interpretation of stimuli.

Identify some changes observed in the demographic composition of the
Indian IT sector. Describe the impact which these changes have on
organisational design and structure.

mmwmmmmmﬁﬁwm%?
U |

How can the practice of Organisational Behaviour help in reducing
production costs ? Explain.
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SECTION B
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Answer each of the following in about 150 words :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)
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“A good job-description leads to improved employee satisfaction.”
Explain.

e i@ (NReyE) #1 SIS J9ssy |

Explain the purpose of employee orientation.

Tret % foru sgufeafa =i R s w1 smavas 8 ? qussy |

Why is controlling absenteeism necessary for organisations ? Explain.

‘amfes dieamsh W ueh feoofi forfag |

Write a note on ‘Collective Bargaining’.

“Ieinit o ufrequl g om mad S ARG HA ] |7 R Y 3@ HUH ¥ HEEd
2 2 3q I W Ifue fag A |

“Competition among industries often leads to labour turnover.” Do you
agree with the statement ? Justify your answer.

sfirss T FRE THR SRS Gedl @1 39fd A A IW ° IEE <d
2 2 9ui hifs |

How do Trade Unions contribute to the betterment of
Employer-Employee relations ? Describe.

“efalt e T, FRiEeT tE afie dul w1 G e @ 17 39 hed
T feoguft HifS |

“Employee Welfare is the joint responsibility of the State, Employers
and Trade Unions.” Comment on the above statement.
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(c)

Q7. (a)

(b)

(c)

Q8. (a)

(b)

(c)
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Describe the relationship between the activities of Performance
Appraisal and Job-Analysis. 10

“Ingfre wra ¥ ond.ua. e, onft off wrwfies 8 |7 foar @ mmemIw
“ILO is still relevant for Modern India.” Elaborate in detail. 20

“qra 9 Nenfires SHaA TEWIiaT & Tl & dmn-fufr vd qegar ggwfiar
% fawari & wieem & wR wEar ® |7 gHese |

“Industrial Democracy functions in India through the demarcation of
levels of participation and accordingly, matters of participation.”
Explain. 20

TR (Ee) f grE 9 ud diifae ®9 4 ghIv gedl | st
3I9d Bt & | feooft Hifsw |

‘Placement Problems’ arise more in larger and geographically scattered
organisations. Comment. 10

IAHM H TS o TH.3N.TH. & & Td TTEfiehdl T gui hifa |
Describe the scope and relevance of HRM in organisations today. 20
WA Frefeh & % 3UshHl # i el H feafq =1 avfa hifs |

Describe the status of Industrial Relations in the Indian Public Sector
Undertakings. 20

IS 34 HHETT hl A& ravaeharsti i fopE gepr Affauifia @
g 2 =t i |

How do organisations identify the training needs of their employees ?
Explain. 10






